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Part I.  True-False Questions (1 point each).  Indicate on the answer sheet provided whether each of the following statements is true (T) or false (F).

1.
The movement from curve (a) to curve (b) in Figure 1 suggests a technological improvement in both the production of consumer goods and the production of capital goods.

2.
Everything else held constant, the choice of point P on curve (a) in Figure 1 will allow more rapid economic growth than would the choice of point N.

3.
Referring to Figure 2, if the unemployment rate falls toward the natural rate, the production possibilities curve will shift from PP1 to PP2, holding everything else constant.
4.
A price ceiling of $95 in Figure 3 will result in a surplus of 26 units.
5.
Referring to demand curve in Figure 4, between prices P1 and P2, demand is relatively elastic.

6.
In Figure 5, if the government sets the price floor at 0B and it buys the resulting surplus, government expenditures equals area LKCG.
7.
Referring to Figure 6, if the government sets a quota of 16 million pounds of imports, the deadweight loss equals the sum of area E and M.

8.
Referring to Figure 6, if the government sets a quota of 16 million pounds of imports, area B is the increase in producer surplus.

9.
Referring to Figure 7, total output will be maximized when the firm hires Q3 units of labor.

10.
According to Figure 8, the profit-maximizing competitive firm will shut down in the short run and lose area acdf.
11.
The long-run total cost curve shown in Figure 9 shows the firm is experiencing economies of scale.

12.
If the perfectly competitive industry shown in Figure 10 is an increasing-cost industry, in the long run the market price will increase, market output will decrease and input prices will decrease.

13.
Figure 11 shows the long-run industry supply curve (LRS) for a perfectly competitive, decreasing-cost industry.

14.
The profit-maximizing price for the unregulated monopoly shown in Figure 12 is P2.

15.
If the monopoly in Figure 12 was regulated and forced to charge the socially-optimal price, then in the short run it would produce output Q3 and charge price P2.

16.
Referring to Figure 13, the decrease in the supply of loanable funds can be explained by an increase in the price level, which results in a higher nominal interest rate, a stronger domestic currency and a fall in consumption, investment and net exports.

17.
If the nominal interest rate was 10% and expected inflation is 13%, then the real interest rate is -3%.

18.
If a U.S. consumer buys a $150 watch made in Switzerland by an American-owned firm, U.S. consumption increases by $150, U.S. net exports decrease by $150 and U.S. GDP is unaffected.
19.
If the economy in Figure 14 was initially at point A, then an increase in investment would result in a new long-run equilibrium at point H, holding everything else constant.

20.
Holding everything else constant, if the economy in Figure 14 was initially at point A and the price of crude oil increased, the new shot-run equilibrium will be at point G and the new long-run equilibrium will be at point H.

Part II.  Multiple Choice Questions (3 points each).  Indicate the best answer for each question on the answer sheet provided.

Table 1 shows the production possibilities curve of two nations: Country A and Country B.  Both countries produce two goods: good X and good Y.  Answer the next three questions on the basis of Table 1.
	Table 1

	Country A Production Possibilities Curve
	
	Country B Production Possibilities Curve

	
	A
	B
	C
	D
	E
	
	
	A
	B
	C
	D
	E

	Good X (tons)
	4
	3
	2
	1
	0
	
	Good X (tons)
	8
	6
	4
	2
	0

	Good Y (tons)
	0
	5
	10
	15
	20
	
	Good Y (tons)
	0
	6
	12
	18
	24


1.
The data in Table 1 indicates:
A.
that both countries have specialized resources and both production possibilities curve exhibit the law of increasing cost.
B.
that resources in both countries are not specialized and production in both countries is subject to constant opportunity costs.

C.
that production Country B is subject to increasing costs, but production in Country A is subject to constant opportunity costs.
D.
that production Country A is subject to increasing costs, but production in Country B is subject to constant opportunity costs.
E.
there is not enough information to determine the nature of either country’s opportunity costs.

2.
According to the data in Table 1, if these two countries specialize according to their comparative advantage:

A.
Country A will produce and export good Y while Country B will produce and export good X.

B.
Country A will produce nothing while Country B produces both good X and good Y.

C.
Country A will produce and export good X while Country B will produce and export good Y.

D.
Country B will produce nothing while Country A produces both good X and good Y.

E.
nether country will gain from free trade.

3.
Refer to the data in Table 1.  If both of these countries engage in free trade in accordance to the principle of comparative advantage, which of the following would be feasible terms of trade between the two countries?

A.
1 ton of good Y for 1 ton of good X



B.
2 tons of good Y for 1 ton of good X


C.
6 tons of good Y for 1 ton of good X

D.
1 ton of good Y for 4 tons of good X
E.
4 tons of good Y for 1 ton of good X
4.
Which of the following will not entail an outward shift of the production possibilities curve?

A.
An improvement in society’s technological knowledge

B.
An increase in the number of workers in the labor force

C.
An increase in the supply of raw materials

D.
A country’s tastes change and while it remains at full employment, it desires more of one good and less of another.

E.
An increase in the quality of a nation’s human resources
5.
Hurricane Katrina, which hit the Gulf Coast region in August 2005, resulted in 1,836 deaths and massive flooding which destroyed large sections of New Orleans.  Suppose that prior to the hurricane New Orleans was producing a combination of output that was on its production possibilities curve.  How did Hurricane Katrina affect the production possibilities curve of New Orleans?

A.
The production possibilities curve shifted outward.

B.
There was movement along the production possibilities curve towards one of its intercepts.
C.
The production possibilities curve shifted inward.

D.
New Orleans moved off its production possibilities curve to a point below and inside its production possibilities curve.

E.
There is not enough information to determine what happened to the production possibilities curve of New Orleans.
6.
Assume the equilibrium price of good X increased while the equilibrium quantity of good X fell.  Which of the following would best explain this result?

A.
An increase in both the demand and supply of good X.
B.
An increase in the demand for good X accompanied with a simultaneous decrease in the supply of good X.

C.
A decrease in the demand for good X accompanied with a simultaneous increase in the supply of good X.

D.
A decrease in the supply of good X accompanied by a decrease in the demand for good X of greater magnitude.

E.
A decrease in the demand for good X.

7.
Assume computers are a normal good.  Which of the following would cause an increase in the demand for computers?

A.
A decrease in consumer incomes.

B.
A decrease in cell phone prices, a substitute for computers.

C.
A decrease in the price of computer software, assuming computers and software are complements.

D.
Consumers expect the price of computers to decrease in the future.

E.
A decrease in the price of computers.
8.
Which of the following would cause a decrease in the supply of computer chips?

A.
An increase in the number of firms that produce computer chips.

B.
The government gives every firm that produces computer chips a $1 per unit subsidy.

C.
A decrease in the price of an input used in the production of computer chips.

D.
A decrease in the price of computer chips.

E.
None of the above.
9.
If 20 units of a good are sold at a price of $50 and 30 units are demand at a price of $40, what is the price elasticity of demand using the midpoint formula?
A.
0.56
 and demand is inelastic.


D.
2.5
and demand is elastic

B.
1.8 and demand is elastic.



E.
0.4
and demand is inelastic.
C.
1.0 and demand is unitary elastic.



10.
Assume demand is perfectly inelastic.  If the government imposes a $2 per unit excise tax on every firm in the industry, then:

A.
the market price will increase by $2.



D.
the market price will not change.

B.
the market price will increase by less than $2.

E.
producer surplus will fall.
C.
the market price will increase by more than $2.

11.
If a legal price ceiling is set above the equilibrium price:

A.
a shortage of the product will occur.

D.
neither the equilibrium price nor equilibrium quantity will be affected.
B.
a surplus of the product will occur.


E.
Both A and C are true.
C.
consumers may be better off.

12.
Assume the supply curve for good X is perfectly elastic and the government imposes a $2 per unit excise tax on every firm in the industry.  We can correctly conclude that the resulting:

A.
increase in output will be greater the less elastic the demand curve.
B.
decrease in output will be greater the less elastic the demand curve.

C.
decrease in output will be greater the more elastic the demand curve.

D.
increase in output will be greater the more elastic the demand curve.

E.
there will be no change in output and no change in price.

13.
Assume the before-trade domestic price of pineapple in the United States is $500 per ton.  The world price of pineapple is $600 per ton.  The U.S. is a price taker in the pineapple market.  If foreign trade in pineapple is allowed:

A.
the price of pineapple in the U.S. will increase.

D.
Both A and C.
B.
the price of pineapple in the U.S. will decrease.

E.
Both B and C.
C.
the U.S. will become an importer of pineapple.

14.
Suppose consumer income increases.  If swimsuits are normal goods, the equilibrium price of swimsuits will ____ , and producer surplus in the swimsuit industry will _____ .
A.
increase; increase



C.
increase; decrease

E.
decrease; remain constant
B.
increase; remain constant

D.
decrease; decrease

15.
If marginal product is positive and falling:

A.
total output must be falling.

C.
output is increasing at an increasing rate.
E.
average product must be increasing.

B.
average product must be falling.
D.
output is increasing at a decreasing rate.
16.
Assume a firm produces automobile tires.  If the price of rubber increases:

A.
the ATC and AFC curves shift up while the AVC and MC curves do not shift.

B.
the ATC, AVC, MC and AFC curves all shift up.

C.
the ATC, AVC and MC curves shift up while the AFC curve does not shift.

D.
the ATC, AVC, and MC curves shift down while the AFC curve does not shift.

E.
the ATC and AFC curves shift down while the AVC and MC curves do not shift.
17.
If marginal cost lies below the average total cost, then:

A.
average variable cost must be increasing.
C.
average fixed cost must be rising.


E.
marginal cost must be rising.

B.
average total cost must be decreasing.

D.
average variable cost must be decreasing.
18.
The long-run average cost curve:
A.
is U-shaped because of the law of diminishing marginal returns.

B.
connects the minimum points of all the short-run average total cost curves.

C.
connects the minimum points of the short-run marginal cost curves.

D.
is the envelope curve that connects the lowest point of all possible short-run average total cost curves at each output.

E.
Both A and B.

19.
Economies of scale occur when a firm’s long-run average cost:

A.
increases as output increases.


C.
decreases as output increases.

E.
Both A and D.
B.
remains constant as output increases.
D.
has a positive slope.

20.
When diminishing returns initially sets in:
A.
variable costs start to rise.

C.
average total costs starts to rise.

E.
marginal costs start to rise.
B.
total costs starts to rise.

D.
average variable costs start to rise.
21.
The short-run supply curve of a perfectly competitive firm is:
A.
the upward-sloping section of its ATC curve.

D.
the portion of its MC curve above its AVC curve.

B.
the upward-sloping section of its AVC curve.

E.
is perfectly elastic at its market price.

C.
the upward sloping section of its MC curve.
22.
Assume a perfectly-competitive, increasing-cost industry composed of identical firms is initially in long-run equilibrium.  Given an increase in demand, in the short run:
A.
equilibrium price decreases, equilibrium output increases, the output of the typical firm increases, and all firms earn economic profits.

B.
equilibrium price decreases, equilibrium output decreases, the output of the typical firm decreases, and all firms incur losses.
C.
equilibrium price increases, equilibrium output decreases, the output of the typical firm decreases, and all firms incur losses.

D.
equilibrium price increases, equilibrium quantity increases, the output of the typical firm increases, and all firms earn economic profits.

E.
firms enter the industry and the MC and ATC curves of the typical firm shift up because of rising input prices.

23.
Assume a perfectly competitive, increasing-cost industry composed of identical firms was initially in long-run equilibrium.  Given an increase in demand, each firm has moved to its new short-run equilibrium.  Then, in the further process of long-run adjustment, which of the following will happen?
A.
Market price will decrease and market output will increase.
B.
Input prices increase and the MC, AVC, and the ATC curves of the typical firms shift up.

C.
The upward-sloping, short-run market supply curve will shift to the right as firms enter the industry.
D.
All of the above.

E.
Only A and C.


24.
Assume a constant-cost, perfectly competitive industry is in long-run equilibrium and the market price is P1.  Assume market demand increases.  In the long run:

A.
The market price will be greater than P1.
D.
All firms will earn economic profits.
B.
The market price will be less than P1.

E.
All firms will incur a loss and earn less than normal profits.
C.
The market price will equal P1.

25.
If you inherited the only spring of mineral water and you wanted to maximize profits from this costless product, you would ask your customers to bring their containers with them and:
A.
charge them the highest price possible to sell some output.


C.
charge the price where marginal revenue is zero.

B.
charge them the lowest price possible to sell as much as you can.
D.
charge the price where marginal revenue is maximized.

26.
In the short run a pure monopoly:

A.
will always earn an economic profit.


B.
will always earn only a normal profit.
C.
will always incur a loss.

D.
may earn economic profits, a normal profit or incur a loss.

E.
will never shut down in the short run.

27.
A monopolist’s marginal revenue is less than price because:
A.
the monopolist’s profits would decrease in the long run.

B.
monopolists are not generally liked; people and governments want to limit their earnings.

C.
the monopoly’s product has many close substitutes.
D.
to sell one more unit of output, the price on all previous units must decrease.

E.
None of the above (i.e., a monopolist’s marginal revenue does not necessarily decrease).
28.
Holding everything constant, a decrease in expected inflation:

A.
shifts the demand for loanable funds to the left as the true cost of borrowing increases.

B.
shifts the supply of loanable funds to the right as the inflation-adjusted return on lending increases.

C.
the nominal interest rate will decrease.

D.
All of the above.

E.
None of the above.

29.
Which of the following statements about GDP is (are) true?

A.
The government spending in GDP includes interest on the debt and welfare payments.

B.
The purchase of a new home is included in investment.

C.
GDP includes the sale of intermediate goods and used goods.

D.
The durable and nondurable goods included in consumption are only produced within the country’s borders.

E.
If the nominal GDP decreases and the GDP deflator increases, then real GDP will increase. 

30.
If expected inflation equals actual inflation:

A.
those who borrow money gain.









D.
No one in the economy loses.
B.
those who lend money lose.









E.
Only A and B.
C.
those that hold all their wealth in currency lose.
31.
Kay has lost her job at General Motors.  She decides to around the home for a few months and does not actively look for a new job.  Holding everything else constant:
A.
the unemployment rate increases and the labor-force participation rate increases.

B.
the unemployment rate is unaffected and the labor-force participation rate increases.

C.
the unemployment rate is unaffected and the labor-force participation rate decreases.

D.
the unemployment rate increases and the labor-force participation rate decreases.

E.
the unemployment rate decreases and the labor-force participation rate decreases.

32.
During 1988, Levi Strauss announced that it would close its U.S. factories and move its sewing division to Mexico.  This corporate move:

A.
decreased frictional unemployment.

C.
increased seasonal unemployment.

E.
had no impact on unemployment.
B.
increased structural unemployment.

D.
increased cyclical unemployment.
33.
One of the components of GDP is investment.  Which of the following would increase current investment?
A.
The pharmaceutical firm Eli Lilly and Company buys a used piece of machinery that was initially sold in 2001.
B.
The pharmaceutical firm Eli Lilly and Company buys $1.5 million of short-term U.S. government coupon bonds.

C.
An increase in corporate income taxes.
D.
The NPV of proposed investment projects increase.

E.
In the current recession, the pharmaceutical firm Eli Lilly and Company witnesses a decrease in capacity utilization.

34.
Which of the following would cause a decrease in U.S. net exports?

A.
A stronger U.S. dollar.

B.
A decrease in the price level of a foreign trading partner.

C.
A decrease in the real GDP of a foreign trading partner.

D.
All of the above.

E.
Only B and C.

35.
Which of the following would cause an increase in consumption?
A.
A decrease in consumer confidence.







B.
An increase in the price level.



C.
A decrease in taxes.
D.
A decrease in real estate and stock prices.
E.
A decrease in real GDP.
36.
Everything else held constant, a decrease in the price level will cause:

A.
a decrease in the supply of loanable funds and an increase in the nominal interest rate.

B.
a decrease in bond prices.

C.
a decrease in consumption, investment and net exports.

D.
All of the above.

E.
None of the above.

37.
Refer to Figure 14.  Suppose the economy is at point A.  If government spending decreases, where will the eventual long-run equilibrium be?

A.
At point B.

B.
At point C.

C.
At point H.

D.
At point F.

E.
The economy will return to point A.

38.
Refer to Figure 14.  Suppose the economy is at point A.  If the economy experiences stagflation, then in the short run it has moved from point A to:

A.
point F.

B.
point B.

C.
point G.

D.
point E.

E.
point C.

39.
Refer to Figure 14.  If the economy is at point F, then:

A.
the economy is full-employment.

B.
the economy is experiencing an inflationary gap, the labor market is tight, wages will increase and the short-run aggregate supply curve will decrease to SRAS2, moving the economy to point H in the long run.

C.
the economy is experiencing a recessionary gap, the labor market is loose, wages will decrease and the short-run aggregate supply will increase to SRAS3, moving the economy to point C in the long run.

D.
the economy is experiencing an inflationary gap, and the self-correcting mechanism states that AD will fall to AD1, moving the economy to point A in the long run.

E.
the economy is experiencing an inflationary gap and proponents of activist policy would advocate avoiding future inflation by increasing government spending, decreasing taxes and increasing the money supply.

40.
Refer to Figure 14.  Suppose the economy was at point B.  If Keynesians wanted to use countercyclical, demand-side policy to move the economy to point A, then they would support:
A.
a decrease in government spending.
B.
an increase in taxes.

C.
an open market sale by the Federal Reserve.

D.
an open market purchase by the Federal Reserve.

E.
Only A, B and C are viable policy responses in this situation.
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Part III. Short Answer Questions (60 points).  Give a complete, but concise answer for each of the following questions.  Answer each question with complete sentences.  Use math, graphs, or equations to help explain each answer.  If you require more space, write on the back, indicating that you have done so and clearly labeling each answer.  Your grade depends on well you explain your answer.
1.
The incidence of heart disease among women aged 30-50 who are smokers has been found to be several times that of women in the same age bracket who are nonsmokers.  As a consequence, the women’s caucus proposes that still higher taxes be imposed on every pack of cigarettes sold.  One Congresswoman argues: “First, the tax will cut back dramatically the rate of use of cigarettes.  Moreover, it will raise revenue for the Treasury.”  If the demand for cigarettes has an arc price elasticity of demand that is less than one, will the tax produce the desired two-fold effect?  Explain.  (10 points)
2.
Assume a perfectly competitive industry is composed of many firms and consumers can buy output from any of the firms at the market price.  One of the firms is located in Terre Haute.  Assume the City of Terre Haute imposes a $2 per unit excise tax on this one competitive firm.  What will happen to the price and the output, both in the short run and in the long run, for both the Terre Haute firm and the rest of the industry?  Explain.  (10 points)
3.
Assume the economy is at full employment.  Using the aggregate demand-aggregate-supply model, illustrate and explain the short-run effects of a decrease in housing prices that reduces household wealth.  Using your graph, illustrate and explain how the self-correcting mechanism will return the economy to full-employment output in the long-run.  Given the decrease in consumer wealth, illustrate and explain how fiscal and monetary policy could be used to return the economy to full employment.  (10 points)
4.
Worldwide, the average coffee grower has increased the amount of acreage under cultivation over the past few years.  The result has been that the average coffee plantation produces significantly more coffee than it did 10 to 20 years ago.  Unfortunately for the growers, however, this also has been a period in which their total revenues have plunged.  Illustrate and explain this phenomenon using the demand and supply curves of coffee.  Carefully explain why coffee grower revenues have declined.  (10 points)
5.
Assume the macroeconomy is a long-run, full-employment output.  Using the aggregate demand-aggregate supply model discussed in class, illustrate and describe the short-run and long-run effects of an increase in the money supply.  Explain how the long-run results coincide with the Classical Quantity Theory of Money.  (10 points)
6.
The table below lists the cost and demand data for a pure monopolist.  Answer the following questions on the basis of this table.  (10 points)
	Monopolist’s Demand Curve
	
	Monopolist’s Cost

	Quantity Demanded
	P
	TR
	MR
	
	Q
	TC
	MC

	0
	$18
	$0
	- - - 
	
	0
	$10
	- - -

	1
	17
	17
	$17
	
	1
	17
	$7

	2
	16
	32
	15
	
	2
	24
	7

	3
	15
	45
	13
	
	3
	31
	7

	4
	14
	56
	11
	
	4
	38
	7

	5
	13
	65
	9
	
	5
	45
	7

	6
	12
	72
	7
	
	6
	52
	7

	7
	11
	77
	5
	
	7
	59
	7

	8
	10
	80
	3
	
	8
	66
	7

	9
	9
	81
	1
	
	9
	73
	7


A. What are the price, output and profits of an unregulated, profit-maximizing monopolist?  Explain.   (4 points)
B. Assume the government imposes a $10 flat tax on the monopolist.  How would this increase in fixed costs affect the price, output and profits of the profit-maximizing monopolist?  Explain.  (3 points)
C.
Now return to the problem in part A and assume the government imposes a $2 per unit excise tax on the monopoly?  How would this increase in variable costs affect the price, output, and profits of the profit-maximizing monopolist?  Explain.  (3 points)
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